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MlensTITL_(HHSHIENMUILD, &H6wllHHBHIMHBUILD eIyl olLm pwbd 4+ sigen vuiBd = Gleumnd
HTHHIHGQ 1OTeNL L 1D =
USSMTD @Gl _ Seaflsd

@ILD6LEV LDV (T LD LD ITETBTEUIT & (615 & &T6uT @) T6001(h LD SILIG)LI6TIT 6X)60TTE S61T.
1) A = {1,3,5}, B = {2,3} etevflév A X B L0DmILD B X A-£3 &HM600rSs.
AxB=BxA S,&WOM? @666 ueTley eeir?
Sitey A ={1,3,5} ,B = {2,3} aTa& Q&ETHESLILL BETaTeD.
AxB =1{1,3,5} x{2,3} = {(1,2), (1,3), (3,2), (3,3), (5,2), (5,3)}
BxA={2,3}x{1,3,5} =1{(21), (2,3), (2,5), (3,1), (3,3), (3,5)}
(1) DD (2) -6 epeulonms A x B # B x A g@Qerenflen (1,3)#)(3,1)...
2) A={1,3,5}, B={2,3} etevflev n(A xB) = n(B x A) = n(A) x n(B) ereord &ML (H&.
AxB ={1,3,5} x{2,3} = {(1,2), (1,3), (3,2), (3,3), (5,2), (5,3)}

BxA={2,3}x{1,3,5} = {(2,1), (2,3), (2,5), (3,1), (3,3), (3,5)}
n(AxB)=n(BxA)=6;

N(A)xn(B)=3x2=6wmmidn(B)xn(A)=2x3=6
A&5C6U n (AXxB) =n (B xA) =n(A) xn (B).

3)If Ax B = {(3,2), (3,4), (5,2), (5,4)} etevflev A LDMMILD B -8 55T600TSs.
ﬁfrﬁu AxB = {(312)1 (3:4)r (51'2): (5!4)}
A = {A x B-Wler (pg6v W HQAHTemev6e] 2 mILIL|&6r 60T SHevorid}. eTenr@eu A= {3,5}

B= {A x B -ufledT @IemorL_md QWSS Temn6v6] 2 MILIL|SH6rleor &HeooriD}. 6TeorGeu
B={2,4}
+A={3,5} npgyio B ={2,4}

4) X={1f2f3f4}f Y={214:618;10} LQ.LDQJLD R = {(1r2)r(2:4)f(3r6):(418)} GTGDﬂE’Ur R
SLEOTS! (H FMTL 6Te0rs STL(H&%. CLaYLD F60T L0 LILIGLD, Si60 600
WS LIS HMID fFFHSMS5E ST,
Sitey ULLD 1.14-60 R MI&&LLLR6Tengl. eel@Qeum(m XeX -&@L0,
QCT @ YEY 2.l LG HeOLSEHMSI. 6T60TG6U X-60T 6T6VEVIT
2 MILILSERHGLD Y-60 6T e BILL6L 2 (H 2 6T6emgl. 6TeorGau R-2L60TSE 6(H
FML A GLD. ,
wHLuUsSD X ={1,2,3,4}; & L
glemevor LS LILISWD Y={2,4,6,8,10}, . gl

ofgesib f={2,4,6,8} \a—"\
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5)'f " etedrm 2_maumergl f(x)=x2-2 66T aIemTWMISSLILGSMS. @hIGS,

x€{-2,-1,0,3} ete01& Q&meuorLmev (i) f-ulledr 2 miliL|&emeril UL 1quwed(H\&
(ii) f -2 FTFUMGSLOMT?

Sirey f(x)=x2-2 @mi@, xe{-2,-1,0,3
(i) f(-2) =(-2)%-2=2; f(-1)=(-1)%-2=-1
f(0)=(0)2-2= -2; f(3)=(3)2-2=7
apemsullermev, f={(-2,2),(-1,-1),(0,-2),(3,7)}
(i) f -wWiledr speu@eurm@® WLH LILIS 2 MILILIDHEGLD @CT (b BILL6L 2.(F 2 6TeTens &
&ITEUOTEVITLD. 6TeoT G f -260T& 62((H FMTTLIMGLD.

6) X= {-5,1,3,4} nmoud Y = {a,b,c} ererflev, X-e0@HS Y-
5@ Ulettau®Lh 2 meyserflev etemeal FMyLMEGLD?

(i) Ry = {(-5,a), (1,a), (3,b)} w:‘h‘:? ..f’:\,‘
(”) Ry = {(_Srb): (1rb); (3;3),(4,C)} lrlﬂrj:tl",l
(iii) R3 = {(-5,a), (1,a), (3,b),(4,0),(1,b)} . =<
Sirey (i) R; = {(-5,a), (1,a), (3,b)} @/ U

R1-&&MeT 2 memer SLSGD LILESH 6 GMil&seumn b 115
(ULLD 1.15(i)).R{FMTUMNSTS. STIewrd 4eX-&& Y-60 BlL6L 2 @ @)evemev.

(“) Rz = {(_S!b)l (lrb)f (3ra)r(4fc)}

xRy

R2-&&Meor 2_memal LSS LILSH 6 GMl&H6e0mn ‘:‘\x j{’,:".l
- .s I = b
(UL 1.15 (ii)). Ry @ FMFUMEGLD. J-j'/'_ __ﬁ..c_|i
Smyeoord X-ufer euQ e 2 MILILSGWD G (b BIL6V I W | .1.,\/

2 (H Y-6L 2 6ITETS!.

(lll) R3 = {(_SIa)f (1ra)f (3,b),(4,C),(1,b)} —1 R, M\
R3-&&M60T 2 memel SHLSGSM LLEH 6L GMl&560TD ';’"‘“j_“; a|

g *—>—l.b
(UL 1.15 (iii)). R3 2 FMIUTSTS. e Be
SMyenrid 1eX-&@& @ Uevor(h MILL6L 2 (H&HE6T acY MHMILD JHHH N

beY ereor 2_6iT6menT.

7) f(x)=2x-x? eT6018 Q&EMH&HLILIL(BH6Tengl erevflev, (i) f (1) (i) f (x+1) (iii) f (x) + f
(1) LB WemenMmE: SMeuoTss.
Sirey (i) x -85, 1 -5 WUrsullLmev,
f (1) =2(1)-(1)%=2-1=1
(i) Xx-6&, x+1-2 UrsuillLmev,
f(x+1)=2(x+1)-(x+1)2=2x+2-(x?+2x+1)=-x%+1
(iii) f(x)+f(1)=(2x-x2)+1=-x?+2x+1
[f(x)+f(1)#f(x+1) ereoTUM S S SHMevorevmin. f(a+b) g eorgl f(a)+f(b) -&&
FLOLOMS @ GLILS vemev. ]
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MlensTITL_(HHSHIENMUILD, &H6wllHHBHIMHBUILD eIyl olLm pwbd 4+ sigen vuiBd = Gleumnd
‘ sk SHNHHHGIQ OTeNL L LD =
USSMTD @Gl _ Seaflsd

8) f(x)=2x+1 Lmmild g(x)=x2-2 eTeflev, f 0 g LDMMILD g O f -3 S MEvoTSs.
Siey  f(x)= 2x+1, g(x)=x%2-2

T .,

fog = [2;;+ 1]o [X\Z - 2] =[2(x2-2)+1] =[2x%2-4 +1] =2%x%2-3 ....(1)

T

o

gof = [ - 2]o[2x + 1] = [(2x +1)2 -2] = [4x2+ 4x + 1 - 2]

= 4x2+4x -1 ..(2)
(1) &(2) = fog # gof
9) If f(x)=3x-2, g(x)-2x+k wmoib f o g = g o f etenflev, k uletr LHLIEOILIG FHTevorSs.

giey  f(x) =3x-2, g(x)=2x+k

e i
——

fog = [3%- 2o [2x+ k] = [3(2x+K) - 2] = [ 6x+3k-2]

—— e
N

gof=[ 2%+ Kk o [3x-2] = [2(3x-2) +K] = [6x- 4 +K]
fog=gof = [6x+3k-2]= [6x-4+K]
=3k-k =-4+2 = 2k=-2 = k= -1
10) fo f(k)=5, f(k)=2k-1 ereflev, k -ufletr DG LIEOILIG SHTETOTSS.
giey  fof(k) = 5, f(k) =2k-1

fof(k) = 5 = f(2k-1)=5 = 2(2k-1)-1=5 =4k-2-1=5
4k-3 =5

4k=5+3 = 4k=8 = k=2

11) e QmLiauflenguller QuUMg 2 mitiy LeTeuBLomm
UDTWOSELLORDS,

o - |\ EN STGDIOT 44 gy & iy oDyt 18 -eugl 2 mILG
by n“+1 ;neN qf SolenL ereor
&ITE00T&.
Sitey N=11 6T60TLIS @MEMN 6TE00T 6TETLISTEV, a;1-ulledT DG LIL|E STevor
n=11 erTeor

a,=n(n+3)-ullev NG uIL
11-6ug 2 ML =a;;=11A(11+3)=154
n =18 6TedlIZ @ TL60IL 6T600T 6T60TLIGMEV, a1g-Ulledr DG ILIG &mevor N=18 ereor
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an=n%+1 -ulev NG UIL,
18 -eugl 2 miliL] a;g=182+1=325

12) @etrm QEelamil SILpenLn, eTeTeRlen LW LOMT 45 BIL&SEBSHGL LIMGS

QUBEUSTEHS FaMILETOTTT. 6TETEMLLL LOMIOT 6ThSHSH Hpennuiley aumeury?
Sirey @(H UTTSH 6V 2_6T6T HITL&H6T =7

45=x(L@ 7)
45-x =7n(n @M WW)
45-X 21601l 7-60T LOL MBI .
QFeueUT HPennd &L LIm&ITerT eLeTmmeugl BT QeueTerfl&E&E Wpenio WMWDm
QUHEUMI.

13) epevmi&Herfletr Fa(hS6ev MM QUBHESHUNT QSTHSSLLL (BETETSI.
@@UWEF FLOTUTH&HDETE &TE00Td
-9:20
Sirey eV 66T Fn(hFH6V, QLHHHMLIEET Q&MTHESLILIL LT
@UUF FuaTur@h =x2-(epneumnl &Herfler Fn(hiFH6v) X +eL6Vhl & erfleor
QUB&HSMLIEVET=0.
LNV G 6 160T S (H&H6D =-9
eLOGVLMBIG 6T 60T QL& SMLIEVET =20
- Ggemauwlmer Ferum@p =x2 -(-9)x+20=0
=%x2+9x+20=0

24
14) &I 6T600T LDMHMILD 35607 FLB uHWeaummler allsH wmEFLd r 6T60fl6v,

3[6S 6TE00T6D)600TE & ITEU0TS.

Sirey

62([H 6T600T =X 6T60T&.

AS6T SmGIAl |

r— —

1 _
z 5

-1 24

5%x2-25x +x-5=0
5x(x-5)+ 1(x-5) =0
(5x+1)(x-5)=0
x=_?1,5

=1

z 5 f . 5
5x2-5-24x=0=>5x2-24x-5=0 * S 61600 == S{6VeuE! 5.

5 4 3
15) A=1|1 -7 9| eeoflev, A-ulletT Blemy BTV LMD {6001 16MWIE &HITET0TS.
3 8 2
5 4 3
Siey A=|1 -7 9
3 8 2
5 4 3
A Wt Bleoy Flgev MHay el =A' = [1 —7 9
3 8 2
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VT -3
girey A= | —x/5 2
V3 -5
(AT= _\/? ‘|"\/5 _'\/g
) +3 -2 +5
17) 5 2 2
A= |—V/IT 07 2| aefley, (AT)T=A ersrugemers sflLmFss.
8 3 1 B
5 2 27,A =[5 —-V/17 8
Sig A= |-viT 07 2| T |2 07 3
8 3 1 2 I 1
5 2 2
T — - B =A & sl L
(AT =|-vIT 07 & Blem -8
8 3 1

18) Bp&smemid FneTUT®&eflev @mba X, y Hmin z —uller & LienLs
&ITE00T 5.

12 3| [y z]
T % N 3 5 =“€

Siey 12 3] _ {y z]
T % 3 5
xX=3 Y= 12 z=3 e ==

19) 4 = Co,se sinf eTeoflev, AAT=1 6T60TE &ML (H 5.
—sinf cosf

) AT cosf —sinf
Site a (sina cosf
AAT cosf@  sinf cos —sinf
~ \ —sinf cosH sind  cosH
_ ( cos*0 + sin’0 —co0s0sinf + cosfsinb ) ( 1 O) 1
~ \ —sinfcosd + coshsinh sin26 4 cos%6 ~\0 1

6TeoTGeu mlepLIGaLILL LS.
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MlensTITL_(HHSHIENMUILD, &H6wllHHBHIMHBUILD eIyl olLm pwid 4+ sigen LUHE]

HTHHIHGQ 1OTeNL L 1D
USSTD @Gl _ Sz

20) § 9 4 3
2] V3 ' .
= 1 \f : 3 eTeoT D 6uofluilev @z, @23, @24, @34, 843, Asa UG W
3
6 8 _11 1
2 MILILISEMET 61(DS!&.
il Zﬁ' A =§' d24 =95,4a3¢4 =0,a43= —11,a44 = 1.

21) Q&EM@E&sLIULL LateflseT @ CHMLIL6 ieminhgemel eTefle) ‘a’ —ulleor
LG LIS SHTeoorss.
(2, 3), (4, a) wpoyd (6, -3)
Sirey A(2,3),B (4, a), nmoun C (6, -3)
X1 Y1 X2 Y2 X3 VY3
A ABC eor LIgLILY

X

TS O
| 209 ; Y4 _
=31 XX XK | #o0 owendr > I XXX X |[=0
n Y ¥ N a 3

(+ YeiterlgeT G GHITLIL6D 6MLDHIS M6 )
[(2a-12+18)-(12+6a-6)] =0

(2a + 6) - (6 + 6a) = 0

2a+6-6-6a=0 = -4a=0 = a=0

22) 240 — cosec 8 + cot 6 eTETLIN S BlepLIGEHALD.

ﬁﬁ'ﬁl \/ 1+4-cosé - \/ 1+4-cosf 5 1+cosf [1_(:05 8] Uj]GDT @mmmu—l& Q&HTGUDT@

1—cosf 1—cosf 1+cosf

UGS mHoib UGH Wl QUGESS6LD]

(Lteosh)  1tcoss LT@EUTEDIIEV SiNLB + 0S8 = 1]
- 1—cos® \/Sm
_ l4-cosh

= cosecO + cotB

sind
23) Ueteu@mld WHAMMHenLGemeT BlepLl&&seaL0n

Ltsind _ cocf + tand
1—sind

Sirey L.H.S= \/1—|—sm6 — sech + tanf

1—sind
= (1 + sind)” A+ sinf)*
1—sin20 cos?0
= 1+ sinf

= secl +tand = R.H. S
cosf
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24) 10/3 1§ 2_wyweter CHmTUTSH 6T 2Hquled@ha 30 LS Qg meneveiev
sengwiley 2 eter L 6TefWlelmBg CHMUISH 1 o & & uller
TMMEHCHITEIOTS M S SHIT600TS.

Siay CHMUTSH T 21quilel@na 30 18
Qsmenevailev 2 6item e LieTeflulleSmnH s
CHEMUTSH T gMHms CHMeuorld =a

opp.side  104/3 1

sdj.side 30 /3

1
o= tan! (—) = 30°
V3

25) 504/3 1§ 2 wgweter @ umenmuiler 2 &R uledmBe 30°
@AMEHHECHETOTSH 0 HmTUIlaeTer LH(WHS @aTm LUTTSESULGIS MmSI
6Teufley, LLENWHH MGSLD LMMEGSLD B)60L CUIW6TET Q& TeMEVEMEUTs SITET0TS:

AB -

S0l 586 tan30 = ——
59 an BC

1 503
J3 i

d =50/3 x /3
=50 X 3 =150 1§

tana =

26) A={-2,-1,0,1,2} inmmiid f: A — B eteorm srguUmengl f(x)=x2+x+1 GLO6V FTFL]
6Teofl6v, B-&3 S5Mev0rSs.
Sirey A={-2,-1,0,1,2} moIbd f(x)=x2+x+1 Q&ETHSSHLILILH6TeTSI.
f(-2) = (-2)2+(-2)+1=3; f(-1)=(-1)2+(-1)+1=1
f(0) = 024+40+1=1; f(1)=12+1+1=3
f(2) = 2242+1=7
eTeoTGeu, f —eor efFFsD B = {1,3,7}

27) f: N — N et0rm &L f(m)=m2+m+3 eT60T aUenTWMSSLILILLITE IS
60T GG €60T MITEOTDL,E0TTEL GLOGL FIMTL] @) 6Vem6V 6T6tTd: HITL (.
Sitey f: N — N . |
f(m) = m2 + m + 3 ik R /0
N={1r21314r5r """""" }rmEN . — .
f(m) =m2+m+ 3 S
f(1)=1°+1+3=5 § gl IS
f(2) =22+2+3=9 ‘
f(3) =32 + 3+ 3 =15
f(4) = 4% + 4+ 3 = 23

X - 60T QeueuGaum 2 MILILSHEBHEGS Semeror LNHLILISSHTH 6L GleuelGeum Blpey
2 (h&&H6T 2 _6iTermeor. eTeorGal f: N — N. @ 60TMISHE Q6OTMTET FMILMGLD.
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28) GG Q&TH&&SLLL(BETT f InMHmIlD g eTeniln FmyLsemnerll LweTUu®SS fo g
MM g o f -88 s&meors. fog =g o f ereTug FFlwm CoFmH &s.
f(x)=x-6, g(x)=x2
Sirey f(x)=x-6, g(x)=x2

fog (x) = f(g(x)) = f(x*) =x*-6 ... (1)
gof (x) = g(f(x)) = g(x - 6) = (x - 6)°
=x2+36-12x=x2-12x + 36  ....... (2)
(1) # (2)

=~ fog(x) # gof (x)

29) f(x)=\/1 + V11 — 22 eterp FMFL6r B LILSSSGE &T6ewors.
Sitey f(x)=\/1+\/ﬁ
f(x) eor G LU = {-1, 0, 1}
(x2=1,-1,0, etesllév /1 _ 22 LAem& 61600 Si6V6VG! 0 G LD)

30) f(x)=x2-1 etevflev f o f o f -& SHMev0TS.
Sitey fofof = f o f (f(x))
=fof (x*-2x2)
f(F(x? - 2x2))
(x4 - 2x2)2 -1
= x8 - 4x6 + 4x% -1
31) 14243+ ... + k = 325, etevflev 13+23+33+ ... + k3 ulledr G Hmevorss.
Sirey 1+2+3+...+k=325
13423433+, +k3=) "7 n?

n(n+1) 2 n 2
= (%52) = (Zin)
1+2+3...k=325  erevflev
13+23+433+...+k>=(325)?=105625

32) 13423433+ ...+ k3 =44100 etenvflev, 14+2+3+...+ k ulleor LDHLIL| &HTevorss.
13423+33+ ...+ k3 =44100 erevflev
1+2+3+...+k =4/44100 =210

33) A ={5,6}, B ={4,5,6}, C ={5,6,7} ere0flév, A x A =(B x B) N (C x C) 16015

ST 5.
Sitey A= {5, 6}, B={4, 5, 6}, C={5, 6, 7}
AxA = {(Sf 5)1 (5r 6): (61' 5)! (61 6)} (1)

BxB ={(4,4), (4, 5), (4,6), (5 4), (3.5), (3,.6), (6, 4), (63), (686)} ... (2)
Cx C = {(5.5), (5.6), (5, 7), (6.5), (6,6), (6,7), (7,5), (7,6), (7, 7)} ... 3

(BxB)n(CxC)=A{(55),(5 6),(6,5),(6,6)) ..(4)
AxA=(BxB)N(CxC) earGal mleplisasliUL LS.
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ollensITITL_(§HSHIENMULD, aasaaﬂgjg)@@gmm 6N M| alLm (pwbd + sigen LUIB]

BT HHHGIQ 0TIl L LD
L ugstd auliy _ senflsid

34) QaM(R&sULLL SeLl Leels@pln e§a LnmmI eai§as Qs L HILeumenms
&6 &: 25,67,48,53,18,39,44
ity &L QUMW &L, L=67; LAGE MW LS, S=18
6§ & R=L-S =67- 18 49
i &d Qa1 —
Irs

aféas Qo = 12 = 2 = 0.576

35)Qan@&aLIuL_ L Ljauedlst aféd &es.

QULLIG) (6U(HL MIGH6T6D) 16-18|18-2020-22122-24/24-26/26-28

LOM6uBI6) & 6rT601 616301658T186M8 (O 4 6 8 2 2
Sirey @mi@ sL QUM oSl L=28

LA&E SiHL LGy S=18

6§ 8 R=L-S

R=28-18=10 6U(lhLMIG6N

36) @ syae ada 13.67 LMHMILD AGL Quilw oLy 70.08 s16sfed LO&HE Sl
LOSILIMLIG SHIT6TIS.
Sitey &6, R =13.67
LA&L QU L&lLL=70.08
eig &, R=L-S
13.67=70.08-S
S=70.08-13.67=56.41
steniGey, LN&E Sl LGl 56.41.

37) @@ spelsl afés MmN &S AW WHIL S &wist (LemMGIL 36.8 LOMHMILD
13.4 1601160, LAISLICIUIML LOSILIEHLILIEDLIS SIT65018?
Sirey aféa = 36.8 LOMHMILD
f&&8m) Sy = 13.4
FUQu@® WS L =R +S

= 36.8+13.4=50.2 —
X d=z—zd°
38) (LAS6L 21 QI elaTuHaTl6H S aleVEHSMSHS SIS = < -
$i Yz 231 10 -1 1
wl r=—=—=11 11 0 0
n 21
— 12 1 1
x |d—=1x— z/d?
. . 13 2 4
1 -10 |100 FHLL alleudHsln : 7 5 5
p <7
g z 23; W 15| 4 |16
= '7 5 n 16 5 25
ST a6 YL 7| 6 |56
6 -5 |25 21
« (71 4 |16 ~ 6.05 9] 8 o4 .
3 3 5 20 9 81
21 10 100
231 770
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HTHHIHGQ 1OTeNL L 1D
USSTD @Gl _ Sz

39) s spaile HLL alleudHsln 4.5 GL0. P60 QG0 Syl Lserf
@6albleumsMie|Ln 5-83 &HHs HenL s@GL LS Hpealest HLL elleusHdLn
&6V 5.

Sitey (b Helet HILL elevdHdln 4.5 SH6L QH&H@GLD HeyLl Lerner
e@6UGleumsMIeY|L] 5 86 Fal lgemed LS Srallen S L alleudsln
LOMMI6USHI6L6MEV,61681G e LGl HIL_ L 6leudHd(LaL=4.5..

40) @0 Sredle S L aNeudHsln 3.6 YJGL0. i epeubleun (b LsnaflemiLLn 3 460
QG SHGLIGCUTE HenL HGLD LS Sraile S L alledHsln LoMmmIn eleusdHs
EUMTSHSHE &NMEMenLLIS SHIT60015.

Sirey (b Hadlen S L aNleudhdld =3.6, G601 §eUbleum (I, LienefsmilL|L 3
3160 QUGG CUTG HenL&H@GLD UHw! Hredlsst HLL ealleudbsHaln 3 460
eU@&UU(BLD.
LS HILL eleusHaLn ; 3.6
3
L USHIL N &6UNM&HS oMe = o2 = 1.22 = 1.44

1.2

41) speile pngMLmeg) 25.6 LAMMILD SiGH6sT LOMMILITL (hd C&HeuIaImend), 18.75
61607160, IBH60T HILL QNeLSHHNSHSH HIT6HUSH
Sirey gy z=25.6, LAMMILL (h& Q&(g, C.V.=18.75
LrIUML (K& C&(g, C.V.=Zx 100%
18.75=-Z- x 100 @&O(HH&)| 0=4.8

256

42) @ el S allewdsin mmin na yélie (MG 6.5 LMHMILD
12.5 e16ofleL LAMMILIML (H& Q& (emeud SHIT6T1s.

0y lmmiUuL (Bs Q&

s ouL® Cov=2x100
£

o =657 =125

oc=6.5z =12.5%

=20

43) @ srailet ayng MM WImUTL (hd Q&g LemmGL 1.2 LMmmILD
25.6 61631160 3iG681 FOMEMenid SHM6TuS.

Sirey o =1.2,C.¥=225.6,% =?
C.V="2x100% = % = — x 100
x c.v

1.2

7= —— x 100
25.6

- 4.687=4.69
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elememuITL_ (B HFHIenMUILD, aafmfg,g,g,jammmm i) alLm pwbd) + sige LB

HITHHIBGIQ LOTeNL L LD
/ LSSTID auELLy _ Seflsb

44)  @Quein(h HTGWILKIGE 663IMNHE EeiulLLILHH6oTment. Q6o (B
besvllLhiGeiley(n QeueuGeuml (LN&MIGET HlenL LILGM&Tes H&HLS&He6) 616016012
Siey @6 HITILIRISE &6l LILHLAUT(LS iG60
Fa.m) Cleuefliimen g
S ={HH, HT, TH, TT}n(S ) = 4
A 36018 HTEBUILIRISATIEL CleusuGaumi (LNShisen CaMeIL haLg & 616015

A= {HT,TH}; n(A)= 2
bITEuILIRISEMN6L CeucuGouml (LN&HMIGET HenLLILSMSHT6 HSHLaSHSH6UT6 )
n(4) 2 1
PA)=15=1=72
45) €(h QHLL_MEUIIG 60 (leap year) 53 &601&6SQeML0SH6N SHlewL LILGDST6N H&HWNSHE6)]

616016012 (G MILIL:366=52x 7+2)

Bire €2(Ih CIHL_L_M6T0IlG.60 366 HITL&6I 2 ererienl. sT6a1Geu 52 (LO(g
QUMIMIG@EDHL LOMMILD 2 HTL&(EHLD 2_66renl.
52 eUMNh&eMeL, 52 g6fdHHLenLnsen Henl &g eNEL. s neten Qnesu®
BT &EbSHSHT6 QUMLILILSHN SL&HTEDIN Jnmitlauaiuiled &HemL &H@Lo.
S={(epmuUNmI-SHMiGe6r, SHlhier- CFeUeUmL, Cl&eUITILI-LIGH60, Lid60-
edlwmpent, edlwimgen -Geusne,Gleusne -g6vfl, &eufl-@muiim);
n(S)=7
A 61601LIG) 53-6uG) &6vllbSHlenin HenLH@GLD hloHLE S 616518.
s1601Geu A={Gleuene -&6vfl, &6vil-@MUNMI}; n(A)=2
53 satfllsAaminsen el ULUSHSTE Howssaneadl p(q) — 24 _ 2

n(S) 7
46) CLOGIMI HITEUILLIMIGET &esuil_LILRLQUT (LG HenL &H@GLD &mgnﬂsnmﬂanu_l LM
UeMJLIL $6mSLI LILIGTL(HSH S 61(108)5.

Sirey :

47) @@ &eumiuyé Gengemeuiled e, Howe sl A 616018, QmIG P(A):P(4) =17:15
LOMMILD n(S)=640 616vfl6V,
i) P(A)
ii) n(A)-R& SHNOUS.
Siay P(A):P(A))=17:15

(i) 17 _ 15
P(A) = —,P(A
i 1 4
(if) P(A):_7 _ 17x20 _ 340
32 32x20 640
n(A) = 340
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ellenemITL_(HHSHIEMMUILD, H6wT HHBHIMBUID QeI olLm pwBd 4+ sigen LUTBE

HTHSHIBEGHIQ LOT6NL L LD
LSSTD eu@ly _ Senflsb \J . iy

m &

48) P(A)=0.37, P(B)=0.42, P(ANB)=0.09 ¢16t7l60, P(AUB)§3& ST6T015.
&ia  P(A)=0.37, P(B)=0.42, P(ANB)=0.09
P(AUB)=P(A)+P(B)- P(ANB)
P(AUB)=0.37+0.42-0.09=0.7

49) DH6OIE HMLGHG ABHSSLUILLL 52 FL_(HaHen QananL & (hdé &L 1q601(hhd) €2 (h
FLG 61(0HGICUNG| el QNMEM 606V 6T @meuth HemL LILIGMaTen
H LS &6 616016017
Sty  QLINHSHE FL_ (B o6t 6165016081 &Hemd =52
@nnem &L_(H&eMed 6160016001 86H6m8 =4
@uman L4 HeoLLusmsnes Howsdse| — =
@nmeiN &L (h&erlstl s16501600115H608 =4
Quewtl £ (H&en HevLLILsD&TE Blowsee) —
@nman LmmiLn et FL_(haen epetenmGILITsI M aNeLHEGLD Hl&HwE &sen
6160TLIGIT6L,
P(AUB)=P(A )+P(B)
@onam mmiln e £ HenLLLSMm&e Hawnseeunesd = 512 + Ji; =2

50) P(A)=§, P(B]=§, P(AUB]=§ 61681160, P(ANB) &IT65015.

&itey
2

P(A)zE,P(B)zE,P(AUB)=P(AﬂB)=P(A)+P(B)—P(AUB)
=2 2 1
_+___
3 5 3
=10+6-5 11

15 15

51) ALDOMID B QLélwieney Q@ Hapsgfsen. Glogyiln, P(A)=0.42, P(B)=0.48 LaMMILO
P(AMB)=0.16 6T6vil6D
i) P(A @6L6m6v)
ii) P (B @60émev)
iii) P(A 3|606VG) B) S SILIUDENMS HT6H0S.
St (a) P(A)=0.42;P(B)=0.48
P(ANB) =0.16
(i) P(A @606060) = P(A) = 1 — P(A) = 1 —0.42 = 0.58
(ii) P(B @6véme6v) = P(B) =1~ 1P(B) =1 —0.48 = 0.52
(iii) P(A l6V6VG B) = P(AUB) = P(A)+ P(B)— P(ANB)
= 0.42+0.48-0.16
= 0.74
52) €(h FLuMiLLE GCangemenuiled A,B i &lienel €6i1enmGLIM6TM| aN60&HEGL0
hl&wg&aen. GLogiln P(A @60emev)=0.45, P (AUB)=0.65 61601160, P(B)-2& SIT6w015.
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elewer T (BHHINBUILD, FHewl HHSHIMBUID Q6B alLT pund 4+ sgsn LuTBe]

m &

HTHSHIBEGHIQ LOT6NL_L LD

gial  A,B 6160163 petIemMQIITSTIMI 6N60&HGLD HBLESB6N
P(ANB) =0
P(A @606m60) P(A) = 0.45 61601160
P(A) = 1-0.45
= 1.00-0.45 = 0.55
P(AUB) = P(A) + P(B) = 0.65 ($pUUL (heneng))
0.55+P(B) = 0.65
= 0.10

53) SLaMEYILD HJ6UsEH&HE eNdd LNMMILD & &d Q& (QeneUd &6

43.5, 13.6, 18,9, 38.4,61.4, 29.8
Answer : J§& R=1L-S
i &len Qe = LS

b5
L-10Qum, w&Huy,s-sfm iy
43.5, 13.6, 18.9, 38.4, 61.4, 29.8
L=61.4
S=13.6
R=L-S=61.4-13.6=47.8
aféad Qhg = L—-S = 47.8 0.64

L+8 75

STe 6T EILHSHED
A whmip B etevtuenr @uevory  eleummilebeon sevorrkise erevfled, @eunmfler eurflemss
@smy&efledr sevoronentg (a, b) ac A be B o1 @p&eb. Semg A wHMID B-ulledr
enjedluer aumessed eretd@mmb. ereot@ey, A X B = {(a,b)|a € A,b € B}. Ax B etebiuems
A &onev B) ereorl) Lig&&6yD.
2 _me)|
A whmb B ereduenr retorh Qeunnilebeon sevvrhiser eres. A -uledlpha B-&&
2 eten 2 me| R syerg dleo elldlwemnaemen Hlemmey sz, A x B -ulledr 2 L sevorons
8mé&eh. T € A -alih@b y € B-&@wner 2 mey R -uler euflwns mbsned TRy
geomb. TRy ereor @mHSHTEV, HHSTL WL b (,y) € R.
" i
X wHmib Y eredim eeumhnilebeon &evorriais@nédlemL GuiwIner 6b
2 mey f-6b gevanm v € X -56b @Cr @ ¥ € Y devLsdng
ereufled, ‘f * g3 Bmb &My eredTGmLD.

aisneugl, f ={(1,y)| @aeaunm r € X-66b, 81 @ Y € Y 8mpéeIb).
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el eWeWITL_ (B SGHIDBULD, &6l &5HHIHBUID  e6iim] allLm puBd + sgen LuIBd =

Goed Fmyy |
f:A— B ereédip e &y, Goed &Fﬂla erevfled, f -ufledr efi&emioneorgy), f-ufledr
emevtt HILBSSDHG&E swwns bsEn. ssneus), f(A)=DB
8wumé& sy (Bijection)
[:A— B eetip &My, Q6IN&GE QeTmisad wHmip Goestiunseid Smhsned [ -
-e0pha B-sanenr @opUnE sy ereiré@mmb.
Bwué sniy (Quadratic Function)
Qv sy f:R—R, f(z)=az’+bz+c (a=0)ele0r euenIUMSSILLLTE, DS
BmunE ey ereotEGmmibd.
wuu & enfy (Cubic Function)

@m ey f: R — R, f(z)=az’ + b2’ + cz +d,(a = 0) ereor
DT ILIMIGHLILILLTED, SIeMSHS HEUTEF SMIL MDD (PLILIGE SFTTL| 6T60T

S SHEmD.
semedp& sniy (Reciprocal Function)

o sy f: R — {0} — R, f(r)= 1 GTe0T CUEDTWIMNISSLILLLMTED, D& HeMEOEDE FMTL| 6TevrliLLD (
T

&8I0 ievofl (Square Matrix)

& Sietaflufleot Hlempserfleor erevurevofl&emawinenrgl Hlyevserfler ereouretofl&emss &S SOLMS
@ mUeor si6u6uet0f]l &&IT S1600f] 6T6UTLILI(HLD.

1 3]
4 5
2x2

epemeoail L siemfl (Diagonal Matrix)

TLSHSHTLLTS,

Q@ 5T Siewflulled (peiTemo ewenen el L 55HE GoGeowid SR 2 _dTen SiemenTSH S
2 _MIU&EHID LFSwIrhiseT ereufled Sibs ievofl cemenelli L Sievofl ereoTliLIHID.
8 0 0 0 0
ausHeETLLTS, (0 —3 0], [0 1 0] ereoruent epemevell L SictoflEmsT S @Lo.
0 0 11f {0 O O

FHewsuled sieofl (Scalar Matrix)
0 weneaillL Sewfluled waetemo cpemeaillL 2 MISHET SEDEOTSHID FLONS
Bmullen aihg Sievvf]l Hlemauledl Sievofl eTeoTLILI(HLD.
40 E 0 0] (5 00
ThHHISHTLLNS 0 ], 0 & 0[,/0 5 0| erevtuent Hlemauiledl sievuflmen S &Lo.

0 0 k] 10 0 5
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eleme T (BHHINBUILD, FHewl HHSHIMBUILD Q6B LT pwBd 4+ sl

gweofl (siebe0g)) S160@ Sievofl Identity (or) Unit Matrix
Qm 51 Sieooflulled WaeTemo epeneall L 2 miisHeT eiceunsrmid 1 gy&eb wHn
ST HF| 2 ML BEBHLD LpFSuID erevfled, Sibs Sievvfl sLoevfl Sievufl Si6b60 5 S160& Si6vvfl eTevTILICHID.

1 0 0
10
Ig = 0 l] , 13 =|0 1 0| erevruent (wemmBu 2 wHmyd 3 euflemsiujemL L S0 Si6v0flSH6T S GLD.
0 0 1

&AW sieofl (S16be0g)) AeuDm Sievofl (Zero matrix (or) Null matrix)
1 SievofluiigeTaT Si6m60TSH g &MU SEHLD L EFFID er6ufled, Sihg Sietof] L&l Si6tofl Sie0e0 gl
eleumm) Si6vofl eTeuTLILI(HLD.

0 0 0
absEEsTLLIS, (0), {8 g], 0 0 0| eredruent Wem»nGW 1x1, 2x2 wHMIO 3 X3
0 0 0
Hleoy Higed wrpHm sievofl (Transpose of a matrix)
A ereotm SisvofluilenT Hlemn semen HlTeL&ENTHEYLD 6060 HT60&Em6N HemT&HETMSHEYLD LNTHME
flemLsGh Sievofl A-ulerr Hlewmr BHiged wnmmy Sievofl ereorlup. A-uller Hlemn Hlred wIHM)
sicooflenws AT (A sreoofllulletr SlapLiLmedr) ereords G s0MLD.

5 3 —1 5 2 -4
(a) A=|2 8 9 aeofled, AT =3 8 7
-4 7 5 -1 9 5

3x3 3x3
Ww&Banevor aievofl (Triangular Matrix)
0 s5II siewflulle (WaeTemw eweneallL 550G CGe 2 6Ter 2 MILILSH6T Si6060THGID
Lh&&luID ereufled, Sihs Sievof] EpwEBsmevur Sieuufl eTeoTLILIHLD.
QO s8I Sievolluled Woeitem apemeellL 5HNGE ECY 2 6rar 2 MIIL&HET EDETSHID
h&lwons Snane Sibg Sieuofl Goed pe&Gamevor Sieuufl sTeoTUILICHLD.

&eumev BamHMLD (Hlemuevorid evevnoed) (Ceva’s Theorem (without proof)) sahmy

ABC eretiug) Q@ (Ww&Ganeuuibd 6601, usshIssT 5O, C'A Hmd
ADB-uleb 2 _eren yeneflaer wemmBw D, F wpmb F aears.
W&Eaneusdlen ussmseT @CT densemwl aunbss, AD, BE., CF

BD CE AF

eTeorm SelwiedTHer & emshaeTens 6r6olle), — X — X — = 1. B D
» B < e pC’ EA FB i

ewesfleomeiv Gemm (Menelaus Theorem (without proof)) 8D
ABC erein (p&Canennisdlent ussmasst BC, CA, AD (sisbe0g

sieunileor BL&) —ufleb o eiten yetaflaer wemnBw P, ), R 2ydwieor
QM CanLemwhs yeraflseams senwws CHemeuwnsr LLHMID /

R
i BP (CQ AR Gt z P g
Gungonenr HuUbhGHemeor —— X — X — = —1. = [2))
&l Bubg PC QA “RB 8h5é &5515 / i
2_eiten Gan (55516001 (B &H6T HEWEVSHFID Hlews FIIHSHEM UWIMGSLD. B P 8,

uL 4.71
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U‘Ws?s,mm.m'r@\g\ﬂ@"‘“‘\

alLT (pwmd + sgenr LUIBH =  Geumnd
USSMD U@L _ Sewflsld

QILDELEV LDEV (THLD LD TEBUT6ELIT & (61 & G IT6TT

0bH&! LEHLICILIGT eX6vTTel6mL &6l
Mr.K.A.Koman Srinivasan M.Sc., B.Ed Mr.R.Krishna swamy M.Sc., B.Ed
B.T. Assistant B.T.Assistant
HHSS, Alwarthirunagari, SGHSS, Panikandarkudieruppu,
Thoothukudi Dt. Thoothukudi Dt.
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SWlEM6IMLITL (BEHSINBUILD, H6EMNHHSHIMBLLILD G 6IDI allLm pwiedl + sigen LUIBA

STHHIHGIQ OTAILL LD
LSSTD eu@GLIL _ Sewflgd

1) A={xeN] 1< x< 4}, B ={xeW | 0 < x < 2} wmmih C={x eN| x< 3}
(i Ax (BUC)=(AXxB) U (AxC)
(i) Ax (BN C)=(AxB) N (A xC) etedrleoreumenm& FlLMI& .
Sy A={xeN| 1< x< 4}={2,3}, B ={xeW | 0 < x < 2} ={0,1), C={x eN|
x< 3}={1,2}
(i)Ax (BUC) =(AxB)U(AxC)
BUC={0,1} U {1,2}={0,1,2}
A x (BUC)={2,3} x {0,1,2}=4(2,0),(2,1),(2,2), (3,0),(3,1),(3,2)}  ....(1)
A x B={2,} x {0,1}={(2,0),(2,1),(3,0),(3,1)}
Ax C={2,} x {1,2}=4{(2,1), (2,2), (3,1), (3,2)}
(AxB)U((AxC)={(2,0), (2,1), (3,0), (3,1)yUL(2,1), (2,2), (3,1), (3,2)}
={(2,0), (2,1), (2,2), (3,0), (3,1), (3,2)}  «ererrrrn. (2)
(1) nmmid (2)-e9mHsl, A x (BUC) =(A x B) U (A x C) ererLig)
FHlUMIG&LILUL L.
(i Ax (BNC) =(AxB)N(AxC)
BNC={(0,1)n{1,2}={1}
Ax(BNC)={2,3}y x{1}={(2,1),(3,1)}F  .iiiiiirrrr... (3)
AxB={2,3} x{0,1} ={(2,0), (2,1), (3,0), (3,1)}
AxC={2,3} x{1,2} ={(2,1), (2,2), (3,1), (3,2)}
(AxB)Nn (AxC)=4{(2,0), (2,1), (3,0), (3,1)r n<{(2,1), (2,2), (3,1), (3,2)}
={(2,1), (3,1)} i, (4)

(3) nmmitd (4), Ax (BN C)=(AxB) N (AxC) etedtug! FlLMISSHLILILLSI.

2) A={x € W| x < 2}, B={xeN |1 < x < 4} nmmb C = {3,5} erevflev
BPHQETHSHSHLILL (B 6TeT FaTLThS&emerd FiflUmisHs.
Ax(BUC)=(AxB)U(AxC)
Sitey Ax(BUC)=(AxB)U(AxQC)
A={xEW]|x<2}={0, 1}
B={xEN|l<x<4}= {2,3,4)}
C = {3, 5}
LHS = A x (B U C)
BUC={2,3,4}U({3, 5}
= {2,3,4,5}
Ax(BUC) =0, 2),(0,3),(0,4),(0,5),(1,2),(1,3),(1,4),1,57 wee(1)
RHS =(A x B) U (A xC)
(AxB) =10, 2), (0, 3), (0, 4), (1, 2), (1,3), (1, 4)}
(A x C) = {0, 3), (0, 5), (1, 3), (1, 5),
(A x B) U (A x C)= {0, 2), (0, 3), (0, 4), (1, 2), (1,3), (1, 4), (0, 5), (1, 5)}
(1) = (2), LHS = RHS
eTeoTGeu mlepLNGasLIUL LS.
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3) AeaearLg 8- a8 GHemMMEUTeT G)UI6V 6T6o0TS:6r 60T SHevoTlD, B 6TedTLIG S -8
L& GeMEUTeT LIGIT 6Teoorderfleor Sevortd LoMmIn C 6TedTLIS @ TL6mLLILIoL
LIGIT 6T600T&6rfl60T S>600TLD 6T60T16V, BLpE60TLeUMenmEF FlLMTE .
(ANB)xC=(AxC) N ((BxOC
Sitey (ANB)x C=(AxC)N (BxC)
LHS = (AN B) x C
ANB=14{23,5, 7}
(AN B)xC={(22),(3,2),(5,2),(7,2)} (1)
RHS = (Ax C) N (B x C)
(AxC) =A(1, 2), (2,.2), (3,2), (4, 2), (5,2), (6,2), (Z,.2)}
(BxC) =A{(2,.2), (3,2), (52), (Z,.2)}
(AxC)N (BxC)={(2,2),(3,2),(52), (7,2} ..2)
(1) = (2)
. LHS = RHS. er6orG6u mlemLNG&HLILIL LS.

4 A={1,2,3,4y nmpmib B ={2,5,8,11,14} eTedTLI6OT @)(H 5>600ThIG6T 6T6oTdH. f : A
— B eTeild sy f(x)=3x-1 676018 QHTH&H&LILIL (H6Tengl. @&&F T Lilemeor
(i) 2bUSSM LLLD
(ii) oL L6uemr600T
(i) euflengs G&mIq.&Herledr &evoTD 4
(iv) euemTULLD SL&UIIMMITEV &MI&HE.
gy A ={1,2,3,4}; B ={2,5,8,11,14}; f(x)=3x-1 B
f(1) = 3(1)-1=3-1=2; f(2)=3(2)- 1=6 = 5
f(3) = 3(3)-1=9-1=8; f(4)=4(3)-1=12-1= 11
(i) SIbysE&M UL LD

grnyy f:A —-B -8 @@® IhUsGM ULSSTH GMILGUTD. (LLLD.1.19).
(i) S L 6U6mr6t0T j6mLOLIL]

gy f-8 S6 Q&THHELILIL(H6TET L L 6U6eme0or Ulmey &mILIGLITLD.
x 1234
f(x)2/518/11
(iii) euflemad Gamq.&erledr &e6vorLD Takd fesiny
gy f-2 alfleng G&MIQ&Herfledr S600TINMSH 6T(LRSH6VITLD. i f
f= {(112)1(215)1(318)1(4111)} & .."I:[:"'S]
(iv) euemLILLD G
LILLD 1.20 2 616 XY-H6emHH 60 Gy CBIGaHITL 196V L 0
(1,2), (2,5), (3,8), (4,11) p&wW LeiTerfl el S
&M LILIL (B 6TerTer. s

oo 1,16
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SWlEM6IMLITL (BEHSINBUILD, H6EMNHHSHIMBLLILD G 6IDI allLm pwiedl + sigen LUIBA

STHHIHGIQ OTAILL LD
LSSTD eu@GLIL _ Sewflgd

5) @Qam@&aslulL f(x), g(x), h(x) & weaihenms Q&meor® (fo g) o h = fo(go h)
6TeoTd &SIML(h &
f(x)=x-1, g(x)=3x+1 wHmMILD h(x)=x2

sty f(x)=x-1,g(x)=3x+1hx)=x

fo(goh) =
[x - 1]0[(3xj+ 1)0(?)] = [x 1]o[ (3X2 +1)] =[3x%+1-1]=3x%x%...(1)
(fog)oh) =

[(x 1)0(3X+ 1)] o(xz) =[3x+1-1 ]o(xﬁ [ 3x o(x_z) =3% ... (2)
(1) & (2) = fo(goh) = (fog)oh
6) Q&EMO&&HIULL f(X), g(x), h(x) Hweumenms Q& meoor( (fo g) o h = fo(go h)

6TeoTdh HTL(h&
f(x)=x-4, g(x)=x2 mmId h(x)=3x-5

Sty f(x)=x-“4,g(x)=x ,h(x)=3x-5
fo(goh) =

o[(;z)o(»SX;-ES )] = [x-4]o(3x - 5)2 = [xi 4]0[9sz -30x + 25]
=[9x*- 30x + 25 - 4] = [9x?-30x + 21]....(1)

(fog)oh) =

[ - 1)0(A]0(3x - 5) = [~ 4]0(3x -5 = [ (3x-5)- 4]
— [9x - 30x +25 - 4] = [9x - 30x +21] ...(2)

(1) & (2) = fo(goh) = (fog)oh

7) A eaeTug 8-23 elL& G6mMmeUTeoT @)WI6V 6T6oor86r l60T S5600TLD, B 6T6dTLIG S -3
L& &GMmEUTeT LIGIT 6Tevords6rfl60r Sevorld Lommid C 6TedTLIG @ L emLLILIenL
LIGIT 6T600T856rf160T &H600TLD 6T60T160, BLpG6vTLalMenma FlLMy&s.
A x (B-C)=(A x B)-(A x C)

gie] A x (B-C)=(A x B)-(A x C)
LHS = A x (B - C)

(B - C) = {31 5/ 7}
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8)

9

Ax (B-C)={(1, 3), (1, 5),(1,7), (2, 3),(2,5),(2,7), (3, 3), (3, 5), (3, 7), (4,3),
(4/5)1 (41 7)1 (51 3)1 (51 5)/ (51 7)/ (613)1 (61 5)/ (61 7)/ (71 3)/ (71 5)/ (717)}(1)

RHS = (AxB) - (AxC)

(AxB) ={(1,2),(1,3),1,5),(1,7),(22), (2, 3),(2,5), (2, 7),3,2), (3, 3),
(3, 5), (3, 7), (4,2), (4, 3), (4, 5), (4, 7), (5,2), (5, 3), (5, 5), (5, 7), (6,2), (6,3),

(6, 5), (6,7),(7,2), (7, 3), (7, 5), (7,7)}
(AxC)={(1,2),(2 2), (3, 2),(4 2),(5,2),(,2),(7,2)}

(AxB)-(AxC)={(1,3),(1,5),1,7),(2, 3), (2 5),(2,7), (3, 3), (3,5), (3,7),
(4, 3),(4, 5),(4, 7),(5,3),(5, 5),(5, 7), (6, 3), (6,5), (6, 7), (7, 3), (7, 5),(7,7)} ...(2)

(1) = (2) = LHS = RHS.
eTeoTGeu mlepLINGasLIUL LS.

S1,57,S3 eTedTLIEOT (LNEMMBWI @ Fal (OS5 QsTLIaflensulledr W& 6L n, 2n, 3n
2 MILILG6TET Fa(hSEHeV S&LD. S3=3(S2-S1) 6TeoT HlMia 5.

Sirey S1,57,S3 eTedTLI6OT (LNEMMGBI @(H Fnl (NS QS TLFeuflemaudledr
W&6L N, 2n, 3n 2 MILIL&6Tl6T SabhH6V eTevfley,
Si1=%[2a+(2n-1)d], sl=%[2a+(2n-1)d], s3=?;—”[2a+(3n-1)d]
HHEUMSI, S-S1=22[2a+(2n-1)d] -2[2a+(n-1)d
=%[4a+=(2n—1)d -[2a+(n-1)d]]
Sz—Sl=% x [2a+(3n-1)d]
3(S,-S1) =32[2a+(3n-1)d]
3(52-S1) = S3

R OUGEGS OsTLFaflagFuilear hSS50\&S eLnerm 2 miliL|gerfler
QUIBSHEHMLIEVET 343 LDMHMILD euMMI6T Fn(hH6v % 6Teofl6v, HS eLNesTm!
9 _MILIL|GH606TE &IT600T5.

Sitey SHSSDHHS CL6TD 2 MILIL &6 6T CILIh& & MHLI6VesT
Q&ETHS&&LUILILGETETHTL b CLN6TM 2 MILIL|SHEMET BITLD & ,a, ar eTer
T(H&HSI&H Q&HTETGRITLD.
2 mILILS6fleT QUHESSHMLIeVET = 343

T xaxar=343
a3=73 NBHg a=7
2 M1 & 66T Fo(h) &6V =%
&8, a(+ +1+r) = 2 -e®BhHS!

1 2
() <
r 3

3+3r+3r2=13r eteor1G6U 3r2-10r+3=0
(3r-1)(r-3)=0 eTeoTG6 r=3 |eV6VGI I=1
a= 7, r =3 ereoflev, CH6m6UUITEOT eLNGOTMI ©_ MILIL| &6 %,7,21

a=7,r=1 elefleh, GHEMEUWITET EP&TM © MILILISET 21,7, .
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leM6TMLITL (BSHSHINBUILD, HEWIHHSHIMBLLILD  Q6dBI allLm pwibed + sigen LUIBA

SHTHHIHGIQ OTAILL LD
L Pussmb ausliy _ seanflgd

10) GrsmeiLid 10 Q&.15, 11 QF.15, 12 Q&F.15 ....., 24 Q&F.LS 6T60rm LSS
|66 6ITET 15 &SI 6ULQ6U 6U600T600TES &ITHGMIGET 2_6TET60T. @)H5 6)600T600TE
HTHGHHIG6TEH G&TeoT(h) 6TeUaleTe)] LITLImL 6L &S SevhisEf&Hs

LQujin?

Sitey 1024+1124+12+...+242
=(12422+...4242)-(12422+....49?) ’ i

B (7Kn+1ﬂ2n+1)> __(1Kn+lﬂ2n+1)) A x25x49 AT x)0 x19
- 6 n—24 6 n=9 6 B
=4900-285

=4615

~ GrasmallLLd 4615 Q& . 152 LFLIL GQ&5TE00TL 6 600T600T & 85T 5 & bl &5 6T
2 _GTeM& M6V 4615 Q&F. 152 LFLIenL 6eVkisH&HEeS (LOLgULD.

11)  162® +9y® —24ay+ 242 — 18y + 9 607 UIS&HCLNEVD &ITE00TS.
Sitey \/ 1622 + 9y? — 24zy + 24z — 18y + 9
=/ (42)? + (=3y)° + (3) + 2 (42) (~3y) +2(~3y) (3) +2 (4z) (3)
==¢Mw—3y+®2=P%—3y+ﬂ

4z 20z 30y 9y . L. . .
12) — +—+ 13 — Y — % 6TedT G ITe6UUI6IT QUTEGELNEVLD &ITE00TS.
Yy Yy T I
Er 5 2
i o
E —11;" . 2x L 13 Sy . 1}3:-11
i w o s T
2 (=)
o
4z 20x | oo
v 3.: L an (=)
4r o By 10 _ 30u B
T T : : ': (=1
19 Fiy Oy~
I;:l o
eTeorGel, 422 20z 13 30y 9y |2 . 3y
vy z 2 y x
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2 -1

13) 121 . : . .
:<2 11) B=| -1 4 | eteoflev(AB)"'=BTAT sr6ttLem&HF FflLUMTEHS.
0 2
Siey @LLiugswm (AB)T
2 —1
1 21
AB:( > x| -1 4
2—-11) 5x3
0 2 3x2

=(2—2+0 —1+8+2>
44140 —-2—4+2

S
(AB)T:(E —94> :((9) —54

aueulILI&&LID (BTAT)
1
2-—-1
1 3X2
2

(1)

BT:<2 —10) a7
—1 4 2)°

BTAT:<2—1O> "
—1 4 2/ 5x3

N =

1
B 2 10 |
BT AT = x| 2-1
—1 4 2) 553
11 3X2
BTAT — (O 5 > ...(2)
9 —4
Q) & (2) =>(AB)T=BTAT
529 A
14) A=[128],B: 1 2 | ereoflev,(AB)'=BTAT etetTLIemSHEF FFlLIMTE S LD.
5—1
17
. 529
5“-6” A= [128],3— 1 2
5—1
BlepLises. (AB)T =BTAT
L.H.S. =(AB)T * =[(5+2+45) (35+4—9)] B [52 30]
(AB)—F 5 9] 7 (1+2+40) (7+4-38) 43 3
1 28 —1 (AB)T=[52 43]
30 3
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leM6TMLITL (BSHSHINBUILD, HEWIHHSHIMBLLILD  Q6dBI allLm pwibed + sigen LUIBA
SHTHHIHGIQ OTAILL LD

BrAr =[(5+2+45) (1+2+40)
[(35+4—9) (7+4-28)
=52 43
[30 3]
(1) = (2) 2 L.H.S. = R.H.S mlem&asLULLgl

15) A= [ 3 ;] eTeofl6v, A%2-5A+71,=0 BlmMI6|s.

Site] L.H.S =A2-5A+71,
A2 [3 1] 3 1]: (9-1) (3+2)]
—-1 2] |-1 2

(—3-2) (-1+4)
5A=5 [3 ; _ [15 5]

I
|
0100
w ot
| I

—1 —5 10
71, =[7 0]
0 7
Ay-5A+71 =[ 8 5]_[15 5]+[7 0]
> |-5 3 5 10 0 7
=[0 0] =0
0 0

eTeoTGeu mlepLINGasLIUL LS.
16) z'—8z> ma?® Hzx 16  dOTmOLMMIL | LEHBTM6 DWW UISSEID 6Tefley,
m LMHMID n -uNeT WHLIL]| &Teoorss.

.I.." -:-'I 1 -1-
I /A’J Bx Fis FLX 16
Sitey iz
2 4 S + i’
)‘"’ F 16x*
2x* —8x + 4 (m— 16)x*+ nx + lun( m - 16=8
Ty ' m=8+ 16 = 24
8xt — 32x 4 }6’ N30
(]
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17) A (1 2) B (4 0) C = (2 g) ereofléy, (A-B)T=AT-BT HlemLi&:saLb.

1 3 1 5 1
ol [1 2]_[4 0] 3 2

LHS=(A-B)= |, , P =[o _2]
(A-B)' = [—3 0 ] ..... (1)

2 -2
AT_[l 1] BT—[4 1]
12 3] |0 5
AT_BT=[]_ 1] _ [4 1] =[—3 0 ] (2)
2 3 05 2 -2

(1) = (2). L.H.S. = R.H.S. eteor@ou BlemLINGSHLILIL LS.

18) AABC-Ul6v C 946078 QEFMmIGSHTE0TID L&D, LIS&HMBIG6T CA LDMHMILDCB-ulledr
BOHLILeTerflgeT WemmGw P nmmitd Q ereofl6V(AQ2+BP2)=5AB? 6T60T [ MI6) 5.
Siiey 4

A

AAQC ufev, C oy6018l, Q&FMmIGCSHTe0oTLD 6T60TLIS TV AQZ=AC2+QC? ...(1) Vs
ABPC- ul6v C 94,6018, Q& MmIGCSHT00TLD 6T60TLIST6OTLIG M6V BP2=BC2+CP2...(2) x/f_.-'
(1) LHmILD (2) ®mHS,AQ2+BP2=AC2+QC2+BC2+CP2 i
4(AQ2+BP?)=4AC2+4AQC2+4BC2+4CP2 /)
= 4AC2+(2QC)2+4BC2+4CP2 s o
= 4AC2+BC24BC2+AC? (P nmmith Q eredTLIG! BHLIL6IT6N 6T60TLISTEV)
=5(AC2+BC?)

4(AQ%+BP?)=5AB?(LNsms&rev C5MHMEH 6TLIL ).

19) PQR-wil6h S LILIGESD QR-&E QFRIGSSTH 2 6T6T PS 246078 QR .S S udlev
FHHERMG Cayn, QS=3SR, 2PQ%2=2PR2+QR? ere0r Bl

Sitey QS+ SR=QR
QS = 3SR (Q&MH&HSHLILLLS)
4SR=QR
SR = @&

4
& QS=3SR
_ 3QR

4
APQS -6v » (3)® PQ2-PR2= 9 p2_ QF
1 1

PQ? = PS? + QS? ...(1) s QR ‘ ‘
APSR -6y — 16 2
PR = PS? + SR? ...(2) 2PQ? - 2PR? = QR?
(1) - (2) = PQ? - PR? = QS?- SR? ...(3) 2PQ? = QR?*+ 2PR?
eTeoTGeu BlepLIGSLILLL ).
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leM6TMLITL (BSHSHINBUILD, HEWIHHSHIMBLLILD  Q6dBI allLm pwibed + sigen LUIBA
SMTHHIHGQ LOTIL L LD
) LSSTD eu@GLIL _ Senflgd

20) ULSH6 QFmIGsHTeor (N&HGSHMevor ABC-ulley G&meuoTid B b 60TSI
Q&mIGsMeooTD LOMMILD D,E eTedTm Li6TerfleseT Lghss0n BC-83 eLhea
FLILGH S&aTES LN laRma! ereoflev, SAE2=3AC%+5AD? eteoT Blomieys. 4

Sitay D bmoild E ereorLieor BC e ELO6OTMI &FLO LIMTGHMIGETTHL |

LN 18\ edTm 60T,

BD = DE = CE = X 6T6015.

Nm@& BE = 2x lnmmith BC = 3x

QFMmIGSTevoT (LN&GSMevoTD ABD, ABE ommild ABC uflev (Lsmssien
CHMHMEH 60T LiLg )

B b AD? = AB? + BD?

= AD? = AB? + X2 ....(1)

AE? = AB? + BE?

= AB2 + (2x)2

= AE2 = AB? + 4X?

moith AC2 = AB? + BC? = AB? + (3x)?

AC? = AB? + 9x?

8 AE? - 3 AC? - 5 AD? = 8 (AB? + 4X2) - 3(AB2 + 9x2) - 5 (AB2 + X2)

Iy

b
s

SAR + 326 - 3 - o a5 =0
» 8 AE? - 3 AC? - 5 AD? =-0
8 AE2 = 3 AC? + 5 AD?. aTerTGeu BlepLIG &L L g

21)  Q&MH&SSHLILLL L6Terfl&Hemen (LNemeoTdemmad & MeoorL [BITM &I E S 60
LgLiemus Smevors? (-9, -2), (-8, -4), (2, 2) wmoid (1, -3)
Sitey

A9 -2), B8, -4, C(1, -3), D@2, 2)
1 Y Z2 Ya r3 Y3 Ty Yy

BTH&TSS 60T LIFLIL

X1=X3  Y1—V3 -92)-(1)  (2)-(3)
= 1/2 =1/2
X2—=Xs  Y2—Va (-8) - (2) (-4) - (2)
-9-1 -2+3 -10 1
=1/2 =1/2 ;>X<:
-8-2 4-2 -10 -6

=1/2 [60-(-10)] =1/2[60+10] =1/2 [70] = 35587 VST
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23)

60 LS 2_WIFN6TET HeVhIsGeT allend:ssHer 2 &R U6 BHaE emeud
HLGVIDL L SHeV6TET @) H FHLILIVSGHM6T (NemmGul 28° Lommilh 45°
@MEHEHECHTETSHT6V LITTHHMTT. @@ SHLILI6V LDMHGMTIH &L1LNIEGL
LN etTeormeL G Hem&FUl6L HevmGHenT lleTs:sH5SIL 60T CHICHTL L6 2 6TeTs)
6Teutl6v, @ TeooT(h) FHLILIVSHEHEH GG @60 GUIL6TET Q&HTEMEVEm6US &IT600TS.
(tan28°=0.5317)

Siey FHVBIGMT 6eTHESH 6T 2 Wyl CD 6T6rs
D efeoTLIg 2 MM CHTHGLT @HSHGSLID @)L LD 6T60r5.

FHEVBIGHMIHIGNT allend:ssH 6T 2 Wyl CD = 60 1Y uLg,@aS]@[rggJ,

LXDA = 28° = LDAC ommilb

L XDB = 45° = LDBC

QEFMBIGH MeoT (P& G&Mevortd DCB-6v, tan45°= g—g
1= 60 @8 e mHgs BC = 60 LS

Q&rm(%asrrm (P& B8 meoorlnDCA-6v, tan28°= D¢

AC
0.5317 = 60 @5 mHaE AC = 05317 =112.85

@ gevor(h) BSI_IIJGUGS@GS@ @emLGuwwmerr Qg memeve] AB = AC - BC = 52.85 LS.

Q@(H HVEEHMT alleTsHE5H e 2 FRAUNSIBHS THOTH T LIS M &N 6V
@ revor(h &LILEVS6T 30° IDMHmID 60° @M& 5 C8sTeorsH 6V
LTI&SSLULUG S TM60T. HeVhISGNT alleTHsSEH 6T 2 W h . @@ HLLGVS6T
LDMHMILD SeVHIGeMT leTHESH 60T I LILGSH Hulemel Cr CHICSITL 16V
60D TN 60T 6T60T16V, @)T6evoT(h HLILIVSHEHEHEG @6emLLILIL L Qg,rrsmeueu

4h LS 6T60T BlemLN G 5.

h
ﬁrrm tan30? = = =

x
x = /3h

h
tan60’ = —

V3y=nh
_h
773
C. @) SLILVSET A DMHOID B @& @6mLLULILL SMID = x + y
h
= V3Bh+ —
V3 V3
= 3h+h 4h

i3

eTeoTGeu BlepLIGsLILLL .

Sl-

||
B
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leM6TMLITL (BSHSHINBUILD, HEWIHHSHIMBLLILD  Q6dBI allLm pwibed + sigen LUIBA

25)

SHTHHIHGIQ OTAILL LD
LSSTD au@GLIY _ Sewflsld
>

BT HeMeVEHS M &HSLILLL 52 FL(h&H6T Q&meor 6(H FL(HSHHL 196V,
L LnevoT. FLQ&efledpha @Umem moin @ meoofl FL(H&EHW0D, @MTFL
FL O sefeNmbal, @umeoofl mHmitb LHH K FLH&EHLD, 6ruBU()
FLhsefledmbs LHHF LHmID @rrem FLM&EHW,HeaLILGRMmS.
LSS peTer FL (&6 lefphal, @ FLB Fueaumiliy pemmuiley
TRSEHELLUQHR MG, bHSH FL L Meors
i) SeTmeul QL&

i) SFleuliL @umeooflwmss
i) &OLIL @TTEmauns @LILSMETET BHl&HLDES 561606 & Te00Tss.
Sirey

LSS (LpeiTem FL (R &6 n(S)=52-6=46
P(&emmeury)= 13

46
P(Fleuliy @pomevofl)= 0

52

(i) (Fleuliy @Umeooflms @ (HSHEGLD ML LD6oorL. IMmMILD amTiL FL(H&EHLI0
Ba&aUILLM L)
(iii) s@UY @umem FL(h&ser =1

BasluBh A pasr K¢, Q8, OV, ]V, J6 Ké

) 1
= P(&@muy @l;rrr&Frr)=4—6

52 FL(&6T QameoT FLh& HL1960BHSE @ FL( fh&HsLUMGSH TmS!
BHF FL(h QUTET VeV AL 36VevE Fallll] BImF FL LTS
@ULILSMSHITET BlHLDESSHEM6IE &IT00T.

Siroy
. . . VCLIL @mMiL |G emmeury [60)LLO600TL
FL () 561607 61608 86T - _ -
A A A A
2 2 2 2
3 3 3 3
4 4 4 4
5 5 5 5
6 6 6 6
R6UGCAIMTIH alemSHUIILD 2 6TeT FL(H&6T |7 7 7 7
8 8 8 8
9 9 9 9
10 10 10 10
J J J J
Q Q Q Q
K K K K
6UQEUMT(IH eue&HWIevld 2 6iTerT
gl._(amﬂ% an@ﬁ 13 13 13 13
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leM6TMLITL (BSHSHINBUILD, HEWIHHSHIMBLLILD  Q6dBI allLm pwibed + sigen LUIBA

26)

SMTHHIHGQ LOTIL L LD
J LSSTD au@GLiy _ Sewflsld

QUTEs FL(hoerfleor erevorevoll&Hend =52; n(S)=52
A peorgl Qe FL() HemL LILSMHSHTET BIGHLEFSF 6r6orsh.n(A)=4
P(A) — n(4) — 4

n(S) 52

B op60rg eammiLl () HemLLILISMETeT BGOSR 6r60rss. n(B)=4
pB) =48 _ 18
~ n(S) 52

B o601l Flauli] Bm& FL() Ken LILESME&HTeT BHLNER 6Terd:. n(C)=26

_ n(C) 9

P(ANB) =P(anriL wdHmib @urem &6 HoL&s)=-;
P(BNC) =P(Reuliy BIm amrjLl EL6 @Gml_ésas)=é—;’
P(ANC) =P(Blauly Blw @rem EL0 HeoL&s)= 2
P(ANBNC)=P(amr L, @urem .6 Feilil BlmsHev @ml_a'sas)=5i2
6T6oTG6U, GGH6MGULLITET Bl&HLD S &6 TS
P(AUBUC)=P(A)+P(B)+P(C)-P(ANB)-P(BNC)-P(BNC)+P(ANBNC)

4 13 26 1 13 2 1 7

= 50 + T + 5 5 %5 5 + =5 =7

50 LOIT6O0TEUTE6T 2_6TeT 62(H U@ L1L60, 28 GLIF NCC-ullsvild, 30GLIT NSS-aviln
oMot 18 GUF NCC ommith NSS-avilh CFF&HHSHMMIEHET NSS -aviln
GFIHRMITITSHET. 62(IH LOMEvOTEUF FLOGUTUILIL] (Lpemmulley
CsIHOSH&SEILGHEMTY. el
(i) NCC -uil6v @B, 6076V NSS-60 @)6LEVITLOEY
(ii) NSS-6L @ BB, 6016V NCC-ull6L @6V6eVITLNGY
(i) ep6dT@m epedTMI6L DL (D CFIHSE @ BLILISMETET [BHLDE 56156065
&IT600T 5.

e Grss wremreurseflsr sTevoremfléena n(S) = 50.
&5
(i) A 1 NCC uileb Garithg NSS — ufleb G&ymLo6 2 6IT6IT LOMEUIT6LIT S61T
_n_ 10 _ 1 LR
A= ie = %~ 5 Ny
(i) B :NSS- & @\migl, NCC — 60 Gamoeh 2 6iTerr LOmsuaT6UIT S61T T

_nB) _ 12_ 6

P(B)_E_ 50 25

(iii)  C: epearGm spetrniled Lo (KD C&ITTHG (@)(HS(E)LD LOTETITELIT S 61T
n(€) _ 10412 _22 _ 11

PO=16= " “%0~-=
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SMTHHIHGQ LOTIL L LD
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26) @uevor(h LIGELG6T 62(h (Nemm 2 (L LLILIGS6TM60T. (N&6eV LG Uley (L&
S @TLemLLI LI 6T600T 6V6VGI (NG LDGHLILIG6T6T Gn(h)SH6V 8 55
SR L_L1LISMSHTET BHHLDSHM6UE &5TE00T.
Sirey @\ 760oT(h) LI&G60)L_&H6IT 62(H(LNeMM 2 (HL_(HeUSHTEL

n(S) = 36
W6V LUGmLUlev @TLemnL Ll LiemL 6T6o0T HlemLLILIG A 6T60TSs.

n(A)=18
P(A) = n4) _ 18
n(S) 36
WP&HLGLILS6T 6T sahlEe 8 HemLLILIG B 6reTss
B ={(2,6),(3,5),(4,4),(5,3),(6,2)}

n(B) 5
n(S) 36
(AN B) = {(2,6),(4,4),(6,2)}
n(ANB) =3
P(ANB) = n(AN B) _ 3
(S) 36

..P(AUB) =P(A)+ P(B)— P(ANnB)
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SMTHHIHGQ LOTIL L LD
I/ ussmb auEliy  Saflsd

o

27) BeOIE HVEHE SHSRW 52 FL (D& Q&ML &L 1960 (HH S,
Feaumly wenmuiey @ FL® ad@SHEHELILGRMS. 318 Feulll] @ImEFmeuns
3|6VEVGI SHIHLIL] @ T MeoolIWITE @) (HLILIGMSETET BlHLDSHEM6IE &5 TE00T.
ey n(s) = 52
Feull FL(hs6T = 26
Feully @umerm ELmee6T n(K) =2
HHLIY FLO\&6T = 26
&SLIL gmeooi] EL_(h&6T n(A) =2
F &L @QUMTRmelTd: @ (HheHE BlHLDESEH6)

n(K) 2

n(S) 52

&L @Umeollng: @hH&Hs BlHLDS 56

nQ 2

PQ)= n(S) 52

n(KNQ)=0

. P(KUQ)=P(K)+P(Q)—PKNQ)

- P(K) =

2 2 -
— 0

_|___
92 52

1

S Rellil @UTRmalns 36VevSl SIHLIL| @) FmeolIWMs @ heHs BleNESSHa| = 3

28) FITITeoT eLNGOTMI [HITE0OTWITBISET 62(H (LN6mM 60T LILI(HEeTmeT. S &L FID 2
LLEGH6T 36V6VE GHMMIHSLILFID 2 HeMmeV&H6T HenLLILIGMHSHTET Bl HLDSSHMe6E

& T600T 5.

Sy eLN6OTM) [BIT600T WIS 6T & 6ooTL LILBWLEUMS HUBWD SnmiGeuer]
S = {(HHH, TTT,HTT, THH,HHT,TTH,HTH, THT}

n(S)=8

SFGLLFID 2 LLE&H6T HenlL &G Bl&HLDe6] A 6T6ors.
. A = {HHH,HTT, THH,HHT,HHT,TTH,HTH,HTH}
n(A)=7
pay_ M 7
n(S) 8
GOMMBSLLFID 2 HeM6VGH6T R &G BHLD6) B 6Teirss.
. B={HHH,THH,HHT,HTH}

n(B) =4
P(B) = 2 nANB) 4
8 n(S) 8
ANB={HHH,THH,HHT,HTH} -.P(AUB) = P(A) + P(B) — P(AN B)
n(ANB) =4,P(ANB) =7 4 4 7
88 8 8
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29) @ uevor(h (LLEMMIMET LIGemL 6T 2 (HLLLILBGLWD QUTS!, (& & LIL|&erfleor
QUHESHEV 6 &HCUT LeVG (NG LTLILIS6TeT aNSHUTFID 59185 G
@ LIS TET BlSHLDEH 66U &IT600TE?

Sitey

n(S) = 36
Arws U S0Lmshes Leer 6:  {(1,6),(2,3),(6,1),(3,2)}

B: w5 & LLsefler allgGSwmen 5 :{(1,6),(6,1)}
pay- =~ -2 _1

6 X6 36 9
__2 _1
 6x6 18
AnB=1{(1,6),(6,1)}
P(AUB) = —2_ -2

6 X6 18

P(AnB)=P(A)+ P(B)—P(ANB)
=1 1 1

1
9 18 18 9

P(B)

30.  5,554555+... steorn QmLieurflengullsir a6 2 miliseflsr sn(hig60 STetrs.

gy Sn  =5455+555+ ...+ n 2mIs6T euemiy Sn(HGH60
=5 [1+ L1+111+...4+n 2 mIiys6T euemr & (hgev]
=3

=5[9+99+999 + .41 2 gy ueny & (HiB6]

=2[10-1+100-1+1000 - I+ .... n o mIISET suem
5 )

=2[(10+100+1000 +...)- (1+1+1+...)]

5 10(10" 1)

S - =2 [(10m)-2 7]
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